OWNER’S MANUAL

Model 870

SCANNER REMOTE FLOOR SWITCH

A QV E ST Equipment and Products
mm’mmn”’LTEC for Quality Hay. ™

I
P.O. Box 63 ¢ 2821 Harvey Street ¢« Hudson, WI 54016

800-635-7468 v+ www.harvesttec.com

REVISED 6/22



INSTALLATION INSTRUCTIONS

1. Attach the harness from the 870 Scanner Remote Floor Switch to the port on the right side
of the 860 Scanner

2. Attach switch bracket to a location on the floor that is accessible to foot operation with
hardware included.

OPERATION

Your 860 Scanner will operate in the same manner as it did before. Refer to your 860 Scanner
Operators Manual for instructions and operation.

NOTE: There is no voltage/current in this system. The buttons are detected with an electrical
“ground sense”. The switch is normally open and temporarily closed when the button is pushed. If
the buttons do not work, check connectors and wire continuity with the appropriate meter.



HARVEST TEC MODEL 870 PARTS BREAKDOWN

Ref Description Part#
1 Foot Switch Mount 001-LMO1
2  Switch 012-1014
3 Cable 006-8601C2
4  Cable Clamp 008-9011

NP 6/32 x 3/8 PHMS

NP  6/32 Nylock Nut

NP 5/16 x 1 ¥4 Self Tapper
NP 5/16 x 3/4 Bolt

NP 5/16 Lock Washer

NP 5/16 Nut

NP 1/4 x 3/4 Bolt

NP  1/4 Nylock Nut

NP 8" Cable Ties

WHHMNNN-&#I—\HMI—\E



Harvest Tec, LLC. Warranty and Liability Agreement.

Harvest Tec, LLC. will repair or replace components that are found to be defective within 12 months
from the date of manufacture. Under no circumstances does this warranty cover any components
which in the opinion of Harvest Tec, LLC. have been subjected to negligent use, misuse, alteration,
accident, or if repairs have been made with parts other than those manufactured and obtainable from
Harvest Tec, LLC.

Our obligation under this warranty is limited to repairing or replacing free of charge to the original
purchaser any part that in our judgment shows evidence of defective or improper workmanship,
provided the part is returned to Harvest Tec, LLC. within 30 days of the failure. Parts must be
returned through the selling dealer and distributor, transportation charges prepaid.

This warranty shall not be interpreted to render Harvest Tec, LLC. liable for injury or damages of any
kind, direct, consequential, or contingent, to persons or property. Furthermore, this warranty does not
extend to loss of crop, losses caused by delays or any expense prospective profits or for any other
reason. Harvest Tec, LLC. shall not be liable for any recovery greater in amount than the cost or
repair of defects in workmanship.

There are no warranties, either expressed or implied, of merchantability or fitness for particular
purpose intended or fitness for any other reason.

This warranty cannot guarantee that existing conditions beyond the control of Harvest Tec, LLC. will
not affect our ability to obtain materials or manufacture necessary replacement parts.

Harvest Tec, LLC. reserves the right to make design changes, improve design, or change
specifications, at any time without any contingent obligation to purchasers of machines and parts
previously sold.

Revised 6/22

HARVEST TEC, LLC.
P.O. BOX 63

2821 HARVEY STREET

HUDSON, WI 54016
PHONE: 715-386-9100

1-800-635-7468
FAX: 715-381-1792
Email: info@harvesttec.com



